SM6E3H318

ST HESHER &

= R %

R £ # iz FE|

RERETSE WWEH EF

FHMEeFERBTHENIH/EICONT

ENETEERBENEOIMICETIEMNESEE 1 HICESE, KD
EBYSHOFERBETDENIRESETEZRELES,



(FRXEISTD2)

TH 6 EEBBFEDENIHBEE

1 URADER (Bifz: M)
b = & %8 & &
B % E B & 2,000,000
# WX A 156
& &t 2,000,156
2 XHOW (Bifz: M)
i £ & # fis =
hHEHRERE 1,325,700
wm B 7 303,205
H ® = 0
L B 0
BmOREEE 0
& B # 0
EHMMERE 264,147
EHEAE 47,300
A B B 0
I 0
=) &t 1,940,352
3 %’ 59,804 =




T 6 FE BHTBERMNE

(=)

/O OB OB/ )
fH#E ‘ . -
Al e |E4 B oA | x| BB
ag1gE| 2 %0)1]1%0)112 SRHSDAR 87,280 87280
HEEEHETEIR2EEFAROEHE@A
48228| 4 wEHE 115 87,280 0
4F308| 1 HHETEE B EYHETHEOAS 2,100,000 2,100,000
4B308| 2 %‘”*}E@”’z STRADEE 87280 2012720
5H10E| 4 HiEE 2R (E1SEEDIX (M ELESR)EFEEN 66,800 1,945,920
= DEILRRET (EANEFEHARRIZDOLT)
5R168| 3 EEWEE 31 R L A S BT (4 A DB A= D N T) 274,800 1,671,120
6R108| ¢ HHEHER A THCEEATLFERBHEESDREES 201,600| 1,469,520
—— EFEEEA - TEBONEFGWD RBIREESRESS
6A19R| 10 EHMARK) 5, 1,100|  1.468420
7R3B| 9 AXERE 6Microsoftd654 7 A F 2 a (T BRR (1) 7,450| 1,460,970
< BRSSP READYIE>SREEBY E 50
1R848| 3 FEEWEE 7| iz 44440 1416530
2EEFHEAOSNOAERSHARVES THE
8H8H| 4 HEE 8= 4 = = 103,125 1,313,405
9g150| 2 “’*}E’mﬂ REFE 156 1,313,561
= TN (8 EA S S R )
9R208( 3 HIEWMRRE| 9\ RamumiLcoR BB oNT 77,060 1,238,501
108308| 10 EHEAE| 10| EEBA EEI0—7LI0ATEEMSEE12M 46,200 1,190,301
EEBRAO A AT R ElC D, B
1MAzE| 1 HESDHR SEFaIJ\&ﬁﬁA&?ﬁ,ﬁﬁJﬁwmlxﬁﬁﬁ -100,000 1,000,301
CT= EI-T 3.
118278 9 HEERE %%E@jlubam*ﬂmﬁlxsitﬂiﬁﬁﬁl —xt -9600| 1,009,901
BA
= HERR R T — . HERTTRR. BRETREAH
1R2E| 3 BEFER| g7 ) UasoEEEBEOREFONT 277,380 822521
2H6R] 4 HiEH 12| REA (XD OEGER 7— L&) 46,000 776,521
s T AR (OKI C824dn) B U BE TR FE&ET
SRMB| o AMERR| 1Sighnrgm @72 s 85,7501 74077
= OREEH (hEaEs 7L AFLORE)
SR26B| 3 BWEWRR| 4 pmpmn (Ra1cH BRI REIOND 852020/ 88751
3828H| 9 WHEEE| 15/Mr—h—MuCHEAR @57893/2(8%4) 28,947 59,804
& F 2,000,156 1,940,352 59,804




